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A 22 HS
3% dEds |54
CHel: MEXS2AS CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
NY=ET 80tE MU LRFX
1,500,000 1,500
307 212t01 & 150,700 150,700
02 LtFAAIEE X 150,700 150,700
Ns Fa¥s X
10,000,000« 1304 = 130,000
NH=0s 22| 20,700,000 20,700
=70 stotg Z2oItsl 23,170 15,170 8,000
201 Zer=2d| 22,000 14,000 8,000
03 A= HI 22,000 14,000 8,000
sl 2| 22,000
Q2= N 5,000,000& 5,000
2)S0 £Xil 5,000,000& 5,000
2)HA2BE Xt 6,000,000 6,000
2)ALBIRE, S¢et Ak 3,000,000& 3,000
AMERAL 29 3,000,000& 3,000
203 HER=4| 1,170 1,170
03 A=A E R =] 1,170 1,170
Neoks 2013 gRFA
1,170,000& 1,170
=T MAEEHA 36,000 31,000 5,000
201 Zer2d| 35,000 30,000 5,000
03 A2 HI 35,000 30,000 5,000
NE=e M 3,000,000& 3,000
&AL 2 19,000,000 19,000
NHE & SOAHI 13,000,000 13,000
203 BR=4| 1,000 1,000
03 AIF=A AR F=LH| 1,000 1,000
1At 25N FRF8 1,000,000 1,000
HEAE &5 4,493,956 5,752,788 A1,258,832
Jl 160,000
- 4,333,956
H=AlE 2t 4,493,956 5,752,788 A1,258,832
Il 160,000
- 4,333,956
HEAE AE2E 2,743,045 2,827,101 A84,056
Jl 160,000
- 2,583,045
309 ME= 2,588,015 2,818,501 A230,486
Il 160,000
- 2,428,015
01 SA- SHIYHES 2,588,015 2,818,501 A\230,486




2A:

S22

o HSAE 25
R M=sAlZ2L EERSE)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
NUASAYUATXHEH 2
1,833, 175,000 1,838,175
NHECISHH 2¢ 200,000,0002 200,000
p) 160,000
- 40,000
N2S3Z3Y 2Y 389,639,0002 389,639
NASFUSSH 29 59,359,000 59,359
1)2S2RI2Y AUEIEY 29
100,842,0002 100,842
404 SASHUHEHES 155,030 8,600 146,430
01 BAH- SHA2EES 155,030 8,600 146,430
NUYSLYATIXHE TAFHS 85,826
2)AFRE PC R20H(7CH) 7,476,000 7,476
2)=g& Xs3eld <0H(3CH)
31,350,000 31,350
2)CIXIE AMOILIXI(® X Z2HIAICH) 20H(2
cH) 7,000,000 7,000
)AFAET IS )| 200 £XI(30H)
40,000,000 40,000
NREBIZY IS 69,204
2)3AAL| T2 Ab 2L
10,000,000 10,000
2)AFRE PC 7L (30H) 3,204,000 3,204
2)CIXIE AOILIXI (B X SEHIAICH) FOH(1
tH) 4,000,0002 4,000
2)SSAE 01823 ZHEAMHIA NS
28,900,000 28,900
2)2d| HHed| (1~35) 200 & XI(3CH)
23,100,000 23,100
Satat 22240/ HE 29 537,771 103,607 434, 164
201 LeH2 Y| 34,000 1,000 33,000
01 AL22telt| 34,000 1,000 33,000
[DESE=mE= I/ ] 10,000,000 10,000
IDESE=mESNI=AS[ESE] 24,000,000 24,000
202 014l 2,400 2,400
01 2LHOIHI 2,400 2,400
1)ZZ0IHI(AIHIE I IIH)
20,0002 x2E +5U * 122 2,400
203 L= 1,500 1,000 500
03 Al ZT AR R Y| 1,500 1,000 500
1)3201YHE HRFX 1,500,0002 1,500
204 MR- A | 1,050 1,050
03 ST LA 1,050 1,050
Noelg sy
50,0002 *(35/40) Al 2H22* 128 1,050
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2A:

S22

dH: M=EA4E &5
R M=sAlZ2L EERSE)
SA - FHB - S2(S) - MRAY - BES Ol ko T fimEST
03 A=A AR F=EIH| 2,160 2,160 0
Nl MEAE Sz gRFX
2,160,000& 2,160
401 AlEHIZL 2 OHHI 80,000 70,000 10,000
01 Al&Hl 80,000 70,000 10,000
Nsul MSAE 48X L B
80,000,000& 80,000
2 I W SEFANE =4 101,000 464,300 A 363,300
401 Al EHIYL 2 CHYI 101,000 464,300 A 363,300
01 Al&HI 101,000 464,300 A363,300
NAAEAHSAYI 101,000,000& 101,000
CEENEA G=EMSHH A 134,500 172,300 A37,800
201 LBH2Zd| 1,000 0 1,000
01 AtR2teltl 1,000 0 1,000
N2 U2 = 1,000,000 1,000
203 A F=&| 500 300 200
03 Al =X HRF Y| 500 300 200
DR 500,000& 500
405 XHAHE SHI 133,000 172,000 239,000
01 AL 2 EFH SHI 133,000 172,000 239,000
DAAIEA L Skl 133,000,000& 133,000
HY2H A 267,842 13,730 254,112
el AH|(2st22 =) 254,112 0 254,112
olARAH|(2st 22 M=) 254,112 0 254,112
101 21 24H| 245,553 0 245,553
02 JIEtA E = 245,553 0 245,553
DA SR A M L= (35A124) 68,931
2)o|12es 4,327,334 x 18128 +1.017 52,811
2)tE=g 100,000 x1H* 128 1,200
2)BUZ A 140,000 x1H* 122 1,680
2)DI2 &M 1,563,033&*1 1,564
2)AZIRI2R4Y
369,630 x 1B x12&%1.017 4,511
2)S+gRg
207, 7123 1B 128 +1.017 2,535
)28 = 66,137, 1992 x1H * 7% 4,630
DA SR AD M CH2(3BA124) 58,285
2)012es 3,769, 7503 18128 +1.017 46,007
2)tE=g 100,000 x1H* 128 1,200
2)BUZ A 140,000 x1H* 122 1,680
2)DI2 4| 1,361,634 +18 1,362
2)AZIRI2R4Y
333,900 x 1B x12&%1.017 4,075




2N S22 AF
T ™SS A
thel: A2 IH|(2st2Z M) (EHe: &)
SN HH .S (B) - NSAY - LS 0l &t o4 T HlS2
)28 2 56,580,078& *7% 3,91
NAIZEAER R DAl 2h= (35A12H) 51,805
2292 3,321,580 x 1H*12&+1.017 40,537
2) 545 100,000& 1= 122 1,200
2)dHFAlH| 140,000& 19128 1,680
2) DB AMH| 1,199, 755@* 1 1,200
A2 224
299, 1003 x1H*12&*1.017 3,651
2)EE =2 50,524,033& 7% 3,537
NAIZFEE DI 0= (35A124) 66,532
2)|20= 1,881,875 «2H*12&*1.017 45,933
2)JIE4% 100,000& x2H*12& 2,400
2)ZHZAIH| 140,000& 2 * 122 3,360
2) 2 AMH| 679, 7333 x2H 1,360
2Nt 224G
274,800 x2H x 128 x1.017 6,708
2)EXYRE
90,330 x2H*12&x1.017 2,205
2)EE =2 32,609,683 x2H x7% 4,566
204 2R AHH| 8,559 8,559
02 2322 &H| 8,559 8,559
DAIZHEERILOIH L2
153, 1253 1Y« 128 1,838
NAIZPEE DA TS
144, 37531128 1,733
NAIZPEERILDH 23
144, 3753 1H 128 1,733
DAIZHIER LM 02
135,625 2« 128 3,255
[230(2sr2Z =) 13,730 13,730 0
Jl2dgl(2st&2 s 13,730 13,730 0
201 LBH23Y| 9,530 9,530 0
01 At 2teltl 9,530 9,530 0
NARSE 1203 *2,0000H*33 720
NEIEE 30& *5,0000H*32] 450
DEEPIREE 100,000& *2CH*43] 800
128D = 350,000 & *4H 1,400
N2ANSED| AL 4=H|
100, 000& *x2CH*23] 400
128 |FAIE2H| 100, 000& *2CH*23] 400
NAIREEH| 10,0002 *24H 43| 960
N2ME2AL 40,0003 * 104 Xt 400
1)23H20F QIMEIE EOXE M
3,000,000& 3,000
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4,200
4,200

Off &4

1,000
4,200
4,200
4,200

oir
X0
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1,000,000&
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350,000& * 128




